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Q. 1. All objective questions are compulsory :
(A) Select the correct option and rewrite the sentences -

(1) A is an intangible asset.
(a) Goodwill (b) Stock
(¢) Cash (d). Furniture

(2) Excess of income over expenditure in ‘Not for Profit
Concern’ is termed as
(a) Deficit (b) Profit
(c) Surplus (d) Loss

(3) Decrease in the value of assets should be to
Profit and Loss Adjustment account.
(a) Debited (b) Credited
(c) Added (d) Equal

(4) Dissolution expenses are credited to account.
(a) Realisation (b) Cash/Bank
() Capital (d) Loan
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(D)

(5) Notary publicis a 4
(a) Government officer (b) Drawer

(¢) Payee (d) Endorsee

Complete the sentences : I (5)

(1) Trading Account is prepared on the bafﬂs of :

expenses.
(2) Income and Expenditure Accountisa

(3) Deceased partner’s executor’s account is shown on

the side of balance sheet.

(4) Fixed deposit account comes under group.

(5) If an asset is taken over by the partner,

account is debited.

Find the odd one : (5)

(1). Wages account, Salary account, Royalty account,

Import duty account.

(2) Machinery account, Furniture account, Computer

account, Rent account.

(3) QGeneral reserve account, Creditors account,

Machinery account, Capital account.
(4) Notary public, Drawer, Drawee, Payee.
(5) At par, At premium, At discount, At loan.
Do you agree or disagree with the following statements : (5)
(1) Partnership firm is a trading concern.

(2) ‘Not for profit concerns’ do not have profit motive.
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(3) Retiring partner is called an outgoing partner.

(4) Gain ratio is calculated at the time of admission of

new partner.

(5) Financial statement includes only balance sheet.

Q. 2. Mr. Deepak and Mr. Abhishek were in partnership sharing [10]
profits and losses in the proportion of 3 : 1 respectively. Their :
Balance Sheet as on 31% March 2019 stood as follows :

Balance Sheet as on 315 March 2019
Liabilities Arr;g;l n_t Assets Arr::g;: s
Capital Account: { Land and Building 32,000
Mr. Deepak 1,20,000 | Plant and Mackinery 60,000
Mr. Abhishek | 40,000 } Furniture 22,000
General Reserve 16,000 | Stock 40,000
Sundry Creditors 80.000 | Sundry Debtors 64,000
Bank Overdraft 42,000 | Cash 80,000
2,98,000 2,98,000
They admitted Adinath into partnei-ship on 1lst April
2019 on the terms being that —
(1) He shall have to bring in ¥ 40,000 as his capital for
1/5 share in future profits and ¥ 20,000 as his share of
goodwill. '
(2) Furniture to be depreciated by 20%. POl e seses
: S fo
(3) Stock should be appreciated by 10%. —
(4) Building should be appreciated by 5%. '
(5)  Aprovision for 5% R.D.D. to be created on sundry debtors. G
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(6) Capital account of all partners be adjusted in their new

profit sharing ratio through cash account.

Prepare : (a) Revaluation Account
(b) Partners’ Capital Account
(¢) New Balance Sheet of the firm.

'OR

Given below is a Balance Sheet of Aditya, Ajinkya and Arun
who were partners in a firm sharing profits and losses in the
ratio 5:3:2 '

Their Balance Sheet as on 31st March 2020 was as follows :

| Linbilities A"};’)““t Assets A“;’:\',’;mt
Creditors 10,450 | Cash : 3,800
Reserve Fund 7.500 | Debtors 9,000
Capital Account: Stock 8,750
‘Aditya 91,000 | Machinery | 50,000
Annkya 18,500 | Furniture 2,500

Arun 16,600
74,050 74,050

On 1st April 2020 Arun retired on the following terms —

(1) Goodwill of the firm will be raised in the books at
7 10,000.

(2) Stocks to be reduced by 1-()%, furniture by 5% and
Machinery by 10%

(3) R.B.D.D. be maintained at 5% on debtors.

(4) %100 to be written off from creditors.
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(5)

All the amount due to Arun transferred to his loan

account.

Prepare : (a) Profit and Loss adjustment account.
(b) Partners’ Capital Account.

(¢) Balance Sheet of the new firm.

Q. 3. Sharmila, Urmila and Leela are partners in the firm ‘Jeevan . [10]
Stores’ sharing profit and losses in the ratio of 2 * 2 © 1
respectively. On 31st March 2020, they decided to dissolve the
firm when their Balance Sheet was as under.

~ Balance Sheet as on 31** March 2020

Liabilities Am(;’)“nt Assets A““E;’;mt
Capital Account: Goodwill 45,600
Sharmila 2,27,160 | Machinery 73,000
Urmala 1,44,000 | Motor car 1,67,600
Leela 1,08,000 | Building -1,02,000
Creditors 28,800 | Investment 62,400
Bills Payable 21,600 | Debtors 30,600
Stock 45,000
Bank 3,360
5,29,560 5,29,560

The firm was dissolved on the above date and the assets

were realised as under -

(1) Sharmila agreed to take over the building at ¥ 1,23,600.

(2) Urmila took over goodwill, stock and debtors at book
values and agreed to pay creditors and bills payable.

P.EA:
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(3) Motor car and Mﬁchinery were realised at ¥ 1,51,080 and
2 31,680 respectively. '

(4) Investments were taken by Leela at an agreed value of

T 55,440.
(5) Realisation expenses amounted to ¥ 6,800.

Prepare :
“ (a) Realisation Account
(b) Partners’ Capital Account
(¢0 Bank Account

1Y

OR

Kanika owes ¥ 26,'0[}0 to Mansi. Mansi drew a bill
for 2 21,000 on Kanika for 3 months’ period and received
the balance of ¥ 5,000 by a crossed cheque. The bill was duly

accepted and returned to Mansi.

On the same day, Mansi endorsed Kanika's acceptance
to Bansari. On the due date, Bansari informed Mansi that
Kanika dishonoured her acceptance and noting charges ¥ 280

were paid.

Mansi then drew a new bill for one month on Kanika
including noting charges and interest T 650. On the due date,

Kanika honoured her acceptance by cheque.
Prepare :
(a) Journal entries in the books of ‘Mansi

(b) ‘Mansi account in the books of ‘Kanika’
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Q. 4 ‘Parimal Company Ltd. issued 1,00,000 preference shares of [8]
? 20 each payable as .... :
On application <8
On allotment 36
On first call T4
On final call X2
Company received application for all these shares and
received all the money.
Pass journal entries in the books of ‘Parimal Company
Ltd.
. OR
Explain the importance of Computerised Accounting system.
Q. 5. Mahendra, Surendra and Narendra were partners sharing [8]
profits and losses in the ratioof 5:3: 2 respectively. Their
Balance Sheet as on 31st March 2019 was as follows :
Balance Sheet as on 31* March 2019
|
Liabilities A“’E‘;;l“t Assets Am(‘;;mt
Capital Account: Stock 17,000
Mahendra 23,000 | Furniture 18,000
Surendra 15,000 | Land and Building 16,000
Narendra 12,000 | Bank 37,000
Bills Payable 2,000
Creditors 8,000
Bank Loan 12,000
(General Reserve 16,000
88,000 88,000
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Mr. Narendra died on 30th June 2019 and the following

adjustments were agreed as per deed :

e

Stock, furniture, land and building are to be revalued at

¥ 16,700, ¥ 16,200 and ¥ 30,100 respectively.

(9) Narendra's share in goodwili is to be valued from firm’s
goodwill which was valued at 3 times of the average
profit of last four years. Profit of the last four years :

I year — ¥30,000
II year — ¥25,000
I year - 25,000
IV year - 40,000

(3) His profit up to the death is to be calculated on the basis
of profit of last year.

(4) Narendra was entitled to get a salary of ¥ 1,200 per
month.

(5) Interest on capital at 10% p.a. to be allowed.

(6) Narendra’s drawing up to the date of his death was 3900
per month.

Prepare :

(A) Narendra’s Capital Account showing amount
payable to his executor.
(B) Give working notes for -
(i) Share of goodwill due to Narendra
(i) Share of profit due to Narendra.
OR
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: ey (A) From the following information find out the current (4
E ratio :
(1) Total assets = ¥22,000
fg (i) Fixedassets = 10,000
(i) Capital employed= ¥ 20,000

(B) Calculate the net profit ratio from the following = (4)
data :
(1) Sales = ¥76,000
(ii) Cost of goods sold= ¥ 52,000
Giii) ' Indirect expenses= ¥ 12,000
Q. 6. Given below 1s the Balanée Sheet of ‘Bhanubai Mahila Seva - [12]
Kendra’ as on lst April 2019 and Receipts and Payments
account for the year ending 31st March 2020:

Balance Sheet as on 1st April 2019

Liabilities A“’E‘;;mt Assets A“}‘;;"'“t
Capital fund: 40,000 | Machinery 10,000
Furniture 20,000
Outstanding Government
Expenses: Bonds 6,500
Wages 8,000 | Outstanding
Electricity 7,000 | Subscription 8,500
Stationery 1,000 | Cash at bank 10,000
Cash in hand 1,000
56,000 56,000
0(3 |47 Page 9 P.TO.



Receipts and Payments Accouﬁt-
for the year ended 31st March 2020

Dr. Cr
Receipts Amognt Payments i
®?) ®) |
To Balancel b/d By Electricity
Cash in hand 1,000]  Charges 25,000
Cash at bank . 10,000 | By Wages 22,000 ,
To Subscription By Stationery : 3,000 ’
2018-2019 . 2,000 By Rent and §
2019-2020 45,000 Taxes 11,800 %
2020-2021 3,000| 50,000 | By Travelling
To Entrance fees 28,000 Expenses 8,000
To Other receipts 5,000 | By Balance c/d —
Cash in hand 4,000
Cash at bank 20,200
94,000 94,000

Additional information -

(1) Outstanding wages ¥ 450

(2) - Entrance fees should be capitalised.

(3) Depreciate furniture at 10% p.a.

(4) Subscription for 2019-20 was outstanding ¥ 3,000
Prepare *

(a) Income and Expenditure account for the year ended
31st March 2020.

(b) Balance Sheet as on 31st March 2020.
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Q. 1. 'Rajan and Rohit are partners in partnership firm sharing
profits and losses equally. You are required to prepare Profit
and Loss Account for the year ended 31st March 2020 and
Balance Sheet as on that date with the help of following

; information :
Trial Balance as on 31 March 2020
" Debit Balances An:z%unt Credit Balances An}g;mt
Insurance 30,000 | Capital Account:
Land and Building 1,00,000 Rajan 1,00,000
| | (Addition of T 40,000 Rohit 1,00,000
w.e.f. 1st July 2019) 10% Bank loan 60,000
Salaries 10,000 | (taken on
Export Duty 5,000 | 1st October 2019)
_ Interest 2,000 | Bills payable 19,000
Furniture 80,000
Debtors 52,000
2,79,000 2,79,000
; Additional information :
(1) Gross profit amounted to ¥ 69,000.
(2) Insurance paid for 15 months w.e.f. 1st April 2019.
(3) Depreciate land and building at 10% p.a. and furniture
at 5% p.a.
(4) Write off ¥ 2,000 for bad debts and maintain R.D.D. at
5% on sundry debtors.
(5} Closing stock is valued at ¥ 69,000.
2 2 4
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Time : 3 Hrs. . (8 Pages) Max. Marks : 80 J
2 J
Notes :(1) All questions are compuilsory.
(2) Draw neat tables / diagrams wherever necessary.
(3)  Figures to the right indicate full marks.
(4) Write answers to all main questions on new pages.
Q.1. (A) -Give economic terms : i () [20]
(@) Adesire which is backed by willingness to purchase
and ability to pay.
(1) Deposits that are withdrawable on demand.
(i) Wear and tear of capital assets, due to their use in
the process of production.
(iv) Elasticity resulting from a proportionate percentage
change in the quantity demanded due to a
proportionate percentage change in price.
(v) The difference between the value of a country’s
exports and iinperts for a given period.
0/3(5|4 Page 1 P.T.O



@) ~Complete the correlation : (5)

(1)

Internal Trade : Home Trade: :

International Trade : i

(i1 Discriminated prices : E: : Single price : Perfect

competition '

(i) [_]: Central Bank : : SBI: Commercial Bank.

(iv) Output method :[____] ::Income method : Factor
cost method.

(v) The period of Inflation: Surplus Budget : : The Period
of Depression : |:i

(9»)” Find the odd word : - ®
@ Durable Goods :
- Furniture, Cupboard, Washing Machine, Fish.

(ii) Cost Concepts I:
Total cost, Average cost, Marginal cost, Selling cost.

(ii1) Legal Monopoly :
Patent, OPEC, Copyright, Trademark.

(iv) Theory of Economic Welfare :
Theory of Income and Employment, Efficiency in
production, Efficiency in Consumption, Overall
Economic Efficiency.

(v) Exceptions to the Law of Derﬁand:

Giffen’s paradox, Prestige goods, Price illusion,

Sup'ply of labour.
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' f(‘]’;l)f---ﬂomplete the following statements : )

(1)  The terms of Micro Economics and Macro Economics
were coined by Norwegian Economist
(a) Adam Smith
(b) J.M.Keynes -
(¢) J.B.Say
(d) Ragnar Frisch

(i) When the supply curve is sloping upward, thén its
slopeis
(a) Positive
(b) Negative
(c) First positive and then negative
(d) Zero
(111) The Price Index number is used
(a) to measure the general changes in the prices
of goods.
(b) as a geographical tool.
(c) tomeasure the air pressure

(d) 1in measurements of goods.

Ve (iv) Development financial institutions were established

to

(a) provide short term funds

(b) develop industry, agriculture and other key
sectors. '

(¢ regulate the money market.

(d) regulate the capital market.
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Q. 2. JA) Identify and explain the following concepts (Any THREE) :

(B)

(v)

®

(1)

(111)

Obligatory functions of the govt. 18 ;

(a) Provision of education and health services.

(b) Provision of pensions.

(¢) Maintaining internal law and order.

(d) Provision of welfare measures.

Abhijeet sold 15 chairs for ¥ 3000, for each chair he
earned < 200.

Rajaram produced 25 quintals of wheat in his field,

from it he kept aside 2 quintals of wheat for his own

family use.

Rani collécted the data of India’s N ational Income

- for the purpose of study.

iv)

V)

Amar demanded milk, sugar and tea powder jointly
to satisfy his want of the tea.
Sunita madam satisfied her want to write on the

blackboard by using a chalk.

Distinguish between (Any THREE) :

(1)
(1)

(1i1)

Micro Economics and Macro Economics.
Perfectly elastic demand and Perfectly inelastic
demand.

Quantity index number and Value index number.

Page 4
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Q. 3.

(iv) Internal debt and External debt
(v)  Expansion of supply and Increase in supply.
Answer the following (Any THREE) : S
(i) Explain any four features of micro economics.
(i) Explain tjae functions of Commercial Banks.
(1) Explain the classification of market on the bésis of time..

(iv) Calculate price index number from the following data:

Commodity A B C D
Price in 2005(%) 6 16 24 4
Pricein2010®) | 8 T e

(v) : Explain any four points of the role of foreign trade in India.

State with reasons whether you agree or disagree with | [12]
the following statements (Any THREE) :

@) Demand Curve slope_s downward from the left to the right.

(11) There are no limitations to the Index numbers.

(1) Elasticity of demand depends upon several factors.

(iv) There are some exceptions to the law of supply.

(v) Capital market plays very important role in Indiaﬁ

economy.
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Q. 5.

Study the following table, figure, passage and answer

the questions given below it (Any TWO) :

(i) Observe the given table and answer the questions:
Quantity demanded
Price |Consumer | Consumer| Consumer | Market
Per Kg Demand
in ¥ (in Kg)
A B C (A+B+C)
35 5 10 15 y
30 10 15 20 e
25 15 20 5 N
20 20 25 30 .
Questions:
(a) Complete market demand schedule.
(b) Draw market demand curve based on above market
demand schedule.
(ii) Observe the following diagram of non-linear demand curve
and answer the questions given below.
Y
)
.?A-
o
=
=
g
& P
S
=
[-*]
(5]
=
=¥
04 Q B
Demand of Commodity
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1) IKEB=EAEdI=1D= ... (1)
2) IfEB>EAEd>1)= ... (1)
' (3) HEB<EA®I<1)= ... M
(4) The’x axisrepresents........ of commodity 1
and Y’ axis represents ........ of commodity.
Regulated Market :

(iii) |

b |
1=

Reg‘tﬂated market is wholesale market where buying
and selling are regulated and controlled by the state

government through the market committee. -

Regulatéd market aims at the elimination of
unhealthy and unscrupulous practices regarding charges
and providing facilities to producers and sellers in the
market. The poor standards of primary and secondary
markets in agricultural market are cash transactions, short
welghts, excessive market charges, unauthorized

deduction, and the absence of machinery to settle dispuies

between sellers and buyers. These defects and malpractices

can be recovered by the establishment of Regulated
market. According to the Bombay Agricultural Product
Market Act-1939, this market is controlled. In this market
mainly the trade of cereals, fruits, tobacco, cotton,
groundnut, coconut, betel nut, potatoes and turmeric, etc.

are controlled.

Questions :

(1) Which act regulates the market?

(2) What are the poor standards in primary and secondary

markets?

(3) Give your opinion with reference to above passage.
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Q.6. Answer the following questions in detail (Any TWO ) : [16}
(1)  State and explain the law of diminishing marginal utility
with its assumptions. -
(n) State the meaning of National Incomel and explain the
features of National Incﬁm‘e.
(i) Explain various reasons for the growth of government’s

public expenditure.

XX
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ENGLISH (01)

Important instructions ;

(1)

(2

678

(<)

(5/

Each activity has to be answered in a full sentencels. Gne Wora’
answers will not be given complete credit. Jasﬁ“téé correct
activity number written in case of options will ol be given
credit.

Web diagrams, flow charts, tables, ete. are to be presented

exactly as they are with answers.

In point 2 above, just words without the presentation of the

activity format, will not be given credit. Use of colour pencils/
bens ete. is not allowed. (Only bluedblack pens are allowed.)
Multiple answers to the same activity will be treated as wrong
and will not he given any credit. : :
Maintain the sequence of the Sections/Question Nos./Activities

throughout the activity sheet.
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SECTION -1: PROSE
(Reading for Comprehension, Language Study,
Summary and Mind Mapping)

Q. 1. (A) Read the extract and complete the--ae?c_iﬁtie_ségiven below : (12)[16] L
I spent 32 years in Informatien"I‘echnéﬂ’dﬁg&:{fut..af which
I was a Chief Executive Officer or MD or the software head
for 23 years for large global multinational s'aftw'ai‘é%t:qmpanies
with thousands of software professionals warldwmieaﬁd =
6 offices in the US, 3 in Europe, 1 in Japan and llnAuSH&L;ﬁ ; .

I had to travel all over the globe around lfiG: t:,mesf»or

business. During this period, [ had also written 4 books Wi’:ﬂ; s
500-700 pages each on Information Technology published by
Tata McGraw-Hill and then translated into Chinese for global

distribution.

- Ilearnt a lot of things when I was running these large

companies. The first cne was the importance of feam work. : ;
In today’s world, nothing is possible without team work. You : - - .

cannot be successful if you are a loner and an é—gdisfi'ﬁ person.
Secondly, you need to lead from the front by setting a good
‘example in front of your staff. Third was that you need to

treat your subordinates and your colleagues as friends. In =

my career, [ made a few mistakes, but learnt a lot about
motivation, being a good listencr, target setting and the art

of delegation which forms such an important part of today's

management.
After working for all these software companies for so .
many years, I wanted to return to my first love i.e. to read o
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and write on various subjects concerning human life and
existence. Therefore, I gave up two offers of around 3 crore
rupees per annum to become a writer. This is how my second

innings as a writer in Marathi began.

After this, I have written about 34 books in Maﬁ‘athi,
Most of them have become bestsellers with tens of thousands
of copies sold for each. However it is not sales or the money
that is important to me as much as the fact that these books
have brought about very good changes in the lives of

thousands of readers.

Al. Read the following statements and arrange them in
proper sequence !
(D) The narrator turned down high income job offers
to pursue a career as g writer. :
(2) He led major global multinational software
companies. v
(8) Hiswriting brought about positive transformations
in the lives of readers.
(4} He learnt invaluable life lessons while heading

multinational companies.

IA‘2,. Complete the following weh_-‘diagrazﬁ. on the Key

aspects of management’

| Key aspectsof
{ management |

.....................

Page 3
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A8. Provide the supporting details from the extract that L

highlight the namator's success asawritar: (@)
&) =
Success as a Writer b
@
Ad. Personal Response ! | E {2} i

Do you think passmn s more 1s:taepmtam; than wealth?
Explain vour views in abcut 50 WOI’ ds,

A5, Do asdirected = 9
@ Ipassed from IIT. e

(Choose the cnrrect aption fre:r‘m the gweni-
alternatives showing Bhe correct use cef *Prﬁsent_ﬁ_
Perfect Tensge.”) SRR .
(a) I shall have passed from I1IT.
() Ihave passed from IIT.
() Ihad passed from 1T
(d) I has passed from IIT.

(i) T made a fow mistakes but iearnt a lot about ;

motivation. :

(Ch.mse the correct ‘Ceiﬂpiex .Sente'nte’:_ﬁ'eﬁ:l-.thé e - .

optmnsg}venbelnw}- o . L

(a} Making a few mist:akes Ileamt a Iot abm’lt' - w:
motivation. ; - e

(b} Though I made a few mistakes, I learnt a lot
about motivation. e .
(¢} Imade afew mistakes ah&’f{-}e_arnt a lot about

mt}twatwn :
(@ I made afow mlstakes to learn a Iat abnut

motivation.
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A6. Vocabulary :
Find out the words from the extract whlch mean

@

(b)
()
(d)

lower in rank or position
person with whom one works

person who practices or shows selfishness or pride

involving many countries

(B} Language Study (Non-Textual Grammar}
Bl., Doasdirected:

(n

(2)

(3

Nandini said to Raj, “Where did you go durmg
the holidays last year?

(Choose the correct ‘Indirect Speech’ from the
given options and write it.)

(2)

@3

(1)

@  Nandini asked Raj where he had gene {hmng.

the holidays last year

(i) Nandini asked Raj where had he gone during
‘the holidays last vear. i

(ii) Nandini asked Raj where he wezr!; durmg the
holidays last year.

(iv) Nandini asked Raj where he has gon& dunng'

the holidays last year.
Tree planting became a natural choice.
(Choose the correct — ‘Wh Questzf}n to get the
underlined part as the answer frem the given
options.) '
()  What did become a natural choice?
(i What was become 2 natural choice?
(iii) What had become a natural choice?
Gv) What became a natural choice? _
Ifchildren don’t play any games thev will beceme
dull and lazy. _
(Choose the correct option from the given
alternatives showing the correct use of ‘unless’)

Page 5

e

(1)



A)

) Unless children don't play anya;é&mes- they
will become dull and lazy.

(i) Unless children play any games they will

become dull and lazy. :
(ii)) Unless childrven play any games they will not

become dull and lazy.

(iv) Unless children play any games they will

became dull and iazy._

B2. Spot the error and rewrite the correct sentence :

(i)  She is more shorter than her brother.

Read the extract and complete the actiﬁtiés..g:iven below :

@

a9 is)

Change is the only constant and disruptlve teahnﬁlogl&s - - L

are only quickening its pace. “T've been an entrepreneur all

my life. Never has the pace of change been as high as it is

today. Today, we are facing a large number of disruptive i
forces, especially those caused by technology,” Nilekani said.

He shared the example of the iPhone, which is currently

celebrating its 10t® anniversary. “What we have seen inthe

past 10 years is a complete change in the balance of
technology from serving the enterprise to serving the

consumer. Today, when you look at the Jeading companiesin

the world by Market Capitalisation, they are all céﬁl:p'aﬂi;e&-' i :;t-

that service consumers like Facebook, Google, Amazon, Apple

and so on. This is because the balance of power has shiftedto

consumer 'technolngv ” He said.

The constant change wili require cons.tant learning and ':f'g'-

reloarmng The core message from Nilekani therefore was ©

Lifetime ieaxmg._ “The good news is that you have got degree .
from IIT Madras, The not so good news is that you can’t stop
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learning. You will have to keep learning for the rest ofyaur
life because we are now entering an era of lifelong learning,”

he said. And by life-long learning, he didn’t niean “going to a
campus and have fun for five years” It will be learning in

Shm‘t bursts, any time learning, anywhere leammg It's going

to be just in time learning. A lot of it will even be online

learning.

This need for constant learning and relearning will come

because of our collective inability to prediet the kind of jobs

that will be done in future or the kind of organisations that
people will be working for in future. The high rate of
automation in the jobs will have an impact on the way Johs
are done. We have seen in the past that technoiogy has made
repetitive jobs go away as computers became more and more
powerful. In the past 10-15 years, you are seeing the rise of
Al (Artificial Intelligence) and Machine Learning. And
mcreasmgly, in the last 5-6 years, the rise of deep }earmng,

which allows you to use a new kind of technalogy called neuml

networks that use a lot of data to make machines smarter _

and smarter,

Al. Read the £ollowmg’ statemerits and find the two correct

statements that state the theme of the extract :

(a) The extract is about Nandan Nilekani as an
entrepreneur and his achievements.

(b) The extract is about a change in technology in
recent past and changes resulted from it

(€ The extract is about life-long learning and
relearning for the rest of our life.

(0 The extract is emphasizing only about onlme

education.
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AZ. Complete the flow chart on the need for constant
learning and relearning. One is done for you, Find
the information from the extract and complete
the flow chart. . {Z)

High rate of automation in job

.............................................................................

M
B
A3. Illustrate the idea of lifelong ieammg aq memwne& in
the extract, o E (i‘_}f. :
A4, Today, online education has become an mtegm} pam of :
all sectors. Write your views. L @
A5. Doasdirected : e

(1) He shared the example of 1Phone

(Choose the correct ‘Passive Voice’ fmm tha given

options and write it.) .

(i)  The example of iPhone is shai*’e"éi by’ him.

(i) The example of iPhone was. shared b,y hzm _

(iif) The example of iPhone has been shamd %ay P

(iv) The example of iPhone _had been 'Sha_réd_- h;;_' '
(2) The constant change will require tcnstaﬁt .

1ea:rn111g and relearning. '

(Cheoae the correct option réplaciﬁ'g the modal
auxiliary showing ‘Obligation’ and write it)

() The constant change may requlre cnnsiant
learning and relearning. :
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(i) - The constant change shall reémlre cmstanf;'
learning and relearning. ' j

(iii) The constant change must require constant
learning and relearning.

(iv) The constant change might require censtant
learning and relearning. e

A6. Vocabulary ! ' 2 (2
Match the following words given in column ‘A’ with their
meanings given in column ‘B’ and rewrite it —

e | 5

(1) Entrepreneur | {a) ’i‘o say that : SQmethmg .

ay Wa.uici.hapf}en mthefutum i

(2) Capitalisation}{(d) Pereon who start'é' or
organises a commereml :

enterprise. _
(3) Predict () Eeconomic system in whlch
i country’s trade and 1nfiustry
are controlled by private |
OWRers. .
|4 Automation [(d) Action of organizing|
S something,
(e¢) Useof ahtemﬁtie”équipmeﬁt
and machines to do work.

(B) Sum;ﬁafising : @)
Write a Summar\ of the above extract by usmg the fQEng
points —

Change an‘d disruptive technologies — cgnstziﬁt le&rniﬁg aﬁd
relearning — lifelong learning — impact on the job.

(C) Mind Mapping : | A
Prepare a mind map on the topic ‘Developing Engﬁéh"
Language Skills’ using your ideas, design and 3tructur'e,'

.3; 2|5 1': ' Pége 9 PT@ o



Q. 3.

SECTION - II : POETRY

{Poetry and Appreciation)

(A) Read the extract and complete the activities given below : {10)[14] |

Afoot and light-hearted | take to the open road,

Healthy, free, the world before me, :

The long brown path before me leadmg wherevar I choose. _
Henceforth I ask not good-fortune, I myself am _gaud fortune . '-"5 =
Henceforth 1 whimper no more, -pdstp'oﬁé_ m-; more, need
nothing, o

Done with indoor complaints, libraries, quem}ms ermczsms
Strong and content I travel the open road.

The earth, that is sufficient,

I do not want the constellations any nearer.

Al. Identify the lines from the extract that mtima;;,e the
speaker’s ‘independence’ and ‘self* rehance = @2

Independence (1)

2

Self-reliance (1)

)

A2. The narrator doesn't want 'cdnsteﬂa;ian_s' near to _him.
(Give reasons. = ! g L
A3. ‘Aman without liberty is a body w1thout & ‘%Qul Expiam

your views in about 50 words. _ _ ---::‘-5-=--""'(2) .
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A4, Name and explain the figure of ap.ééi;,h”&i_a_r{;hé-;fg’liﬁwing

line : ] (2)
‘Henceforth I whimper no more, pastpone 1o more, need
nothing.’ e
Ab. Compose four poetic lines of your own on fﬁeedom._’ ' (2)
(B} Appreciation : - @
Read the extract and write the appreciation of the poem given
below :

Is anybody happier because you passed his way?

Does anyone remember that you spoke to hzm taday‘?
This day is almost over, and its toiling time is thmugh,
Is there anyone to utter now a kindly word of you?

Did you give a cheerful greeting to the friend who came along?
Or a churlish sort of “Howdy” and then vanish in the throng?
Were you selfish pure and simple as you rushed along the
way, | T
Or is someone mighty grateful for a deed '}?m{'did tcsciav""? '

Can you &ﬁ.y tonight, in parting with the days thar,f: slipping
fast,

That you helped a single brother of the many ﬁhat you passed?
Isa smg‘le heart rejoicing over what you did or said;

Does a man whose hopes were fading now with courage look
ahead?

SECTION - 111
(Writing Skills)
Q. 4. Complete the activities as per the insiructions given';ijelbw {161
(A) Attempt ‘Any One’ of the following activitios : ' (4)
(I)  Virtual Message °

Imagine, Shubham has to leave for his native place due

to emergency werk. He and his friend Mahesh had

planned to watch a movie at 8.30 pm. Shubham tried to

9 2 .,ﬁ:s 1 Page 11 . BT




an

call Mahesh several times but due to eonnectwlty issues

he is unable to contact him.
Draft a virtual message in about 50/100 words to
Mahesh to convey this information. Support your
message by giving appropﬁaréie&_san_s. =

OR -
Statement of purpose !
Imagine, vou are an artist and have completed diploma
in ‘Fine Arts.’ You wish to pursue a° ‘Bﬁﬁﬁélér s Degroe’
in ‘Canvas Painting,’ at a reputed umverss,tf; in India
or abroad. : '
Prepare a statement of purpose in ab()ut 1!3{}! 1 50 words
which will help you to secure an adrmsszon m your
dream university. el ;

OR

(11D Group Discussion

 Imagine, you have recently attended a g“mup d;scussmﬁ; .
as an audience on the topic ‘Importance of Enghah .
Language.’ Four of your friends p—aréicip&te& in z}ie?'*”

discussion. Write the group dlSCuSSlDﬂ in the form of

dialogues. Provide suitable d1alogues f@r eaﬁh.ﬁz'z-z-jj

participant to express their opinions on the-glf.}.fen topic.

B) Attempt ‘Any One’ from the given activities |

2l501]

@

E-mail:

Imagine, you are a secretary of a ‘Mtergty }i,sg@é;iazim’

of your Junior College. On occasion of ‘World Poetry Day’
you have organised poetry recitation competition. As a
secretary of the association, draft an ema.i'ifia;?ixmﬁta a
famous poet to inaugurate the fu:;gction." i -

(Give the details of the function}

OR
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(I Report Writing : . :
On the occasion of a ‘World Reading Day’ your Junior
College had organised a visit to a city library. Imagine,
you are an editor of your Junior College magazine;
Write a report in about 100/150 words giving the details
of your visit.

OR

(IID Interview !
Imagine, you wish to conduct an interview of a famous
singer. With the help of the format given beiow draft

questions on the given fields.

- (Do not change the sequence of the questions)

Name of the interviewee
Area of success/Reputation
Date / Venue / Time

Duration of Interview

' Questions '
Questions based on :
(1) Early Motivation.

(2) Professional Development

(3) Inspiration/Idols
(4) First Recording
(5) Strengths

(6) Best Performance

(7) Achievements

(8) Mission / Vision

Page 18 e



 {C) Attempt‘Any One of the following activities:

4

(I1)

Speech
Imagine, vou have been selected to represent your
Junior College for an Intercollegiate Elocution
Competition on the topic ‘Soldiers and Farmers ° the
Resl Heroes.’ Draft a speech in about 100/150 words on
this topic.

OR
Compering ‘ _
Imagine, your Junior College has organised 2
programme to felicitate the ‘HSC EXajIﬁiﬁa-tiq‘ﬁmppers’_
of your college. As a compére of a progra«mme? draft a
seript for the programme. You may use the following

points

(Introduction, Welcome song, Lighting of the lamp,

i

Inviting Chief guest for felicitation, Vote of thanks).

OR

(I111) Expansion of Idea : Lol
Expand the following idea with the help of the points -;Q._i:

given below (100/150 words).
Fortune Favours the Brave’

__  Stepping out of comfort zone
—  Calculated risks

-—  Overcoming fears

—  Mental toughness

__ Building confidence

(D) Attempt ‘Any One’ of the following activities :

@

Review ! o
Write a review of a movie you ha._v_e; recéﬁtl? watched
using the points given below. (100 /150 words)

— Title '

Page 14
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—  Theme / Storyline

—  Director / Music director
—  Characters / Actors

—  Add your own points

OR

(I Blog
Write a ‘Blog’ in a proper format on Snlar Energy’ with
the help of the following points: (100 /150 words)

—  Renewable source of energy
—  Heduges pollution

—  Reduces electricity bills

—  Subsidy by government
OR

(III) Appeal :
Prepare an ‘Appeal’ on the topic ‘Women’s Security and |
Safety’ with the help of the following points (1007150
words) |

— Respect women’s ri ghts
— Safety measuresand support systems
—  Collective responsibility

—  Government initiatives

SECTION - IV
(LITERARY GENRE - N OVEL)

Q. 5. (A) Complete the activities given below as per the instructions : (4) [lﬁ’i
(1) Pick out the odd element from the group and writeit.  (2)
(@ Theme, Plot, Conflict, Novella.

(b} Manohar Malgaonkar, Mulkraj Anand, Raja Rao,
George Orwell.
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(© The Heart of Darkness, Rﬂbmsan Crusoe
Frankenstein, Rajmohan’s Wife,

(@) Terror, Haunted buildings, Supé‘x‘n’atu}a}"'fttapian
(ID State whether the following statements are True or
Felse and rewrite them. '

(@) Detective fiction is a snbggs;;z;g-of crlmeﬁctmn -
(b) ‘Tale of Genji'is written by Mlgml de Cervantes
{¢&) The main ch aracter 15 reforrad :as the ‘protagonist 1

(@ ‘Picaresque Novel'is based @n the life of the author.

{B) Answerin about 50 wor ds to the questwns g;,,ven below:
(D Write a short note on the mgmficance of November

15'8 at Greenslade School, - By ,

(I) Fernman’s presentation focuses on the E};eme of
‘racism.’ Explain. A ()

(C) Answerin about 50 words to the questions gzven ﬁelaw
(D) Describe the importance of ‘Reform Club’ in th
development of the plot in the novel ‘Avound The World

in Bighty Days.’ (2_’} o

(I Passepartout’s visit to i'he clergyman’s hom’se leads to
the happy ending of the nével Amund The World

in Eighty Days.' T s
(D) Answer in about 50 words to the questions given below: {4)
(D Write in brief the message ofa letter received by Miss
Morstan. o .
(D Write the Character Sketch of Dr. Watson, iEm
¢
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SEAT NUMBER Q, + 8|2

DAY — Q_
[2025 [ 1122 [1100] J 316 (E)
'MATHEMATICS & STATISTICS (88) | |
(COMMERCE) 1
LTime : 3 Hrs. (15 Pages) : Max_.,\ M%x_rks .8’04  ::'

General Instructions :

{0
iz)

i)

()

(v)

(ve)

(vii)

All questions are compulsory.

There are six questions divided into
two sections. :
Write answers of Section-I and

Section-II in the same answer book.

Use of logarithmic tables is a?iajwéd, -

Use of caleulator is not allowed.
For L.P.P. and Time Series graph
paper is not necessary. Only rough

sketch of graph is expected.

Start answer {o each question on o

new page.
For each objective type of question (i.e.
Q.1 and @.4) only the firsi ataé_mpz_.

will be considered for evaluation.
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(B)

iv) The axféa of the region boundedi}y tﬁe curve y:xz .

)

(v}

fd%f [dy)z = tivel
e | 4 == | =g gre respectively.
kde”] o2 -
@ 1,1 @ 12
& 2.2 @ 21 =
The integrating factor of the differential equation
Ay Y - '
d:x: x gl
(@) logx m X
@ = @ &

and the line y=4 is
32

(a) 3 8¢ units (b) %‘}- sq units

16

& S sq.units (d) 64 sq.units

The order and degree of the differential equation

State whether the following statements are true or false

{1 mark each) :

(49

If A is a matrix and K is a constant, then ' _

(= rea”

(it)

flogxd’-xﬁx}ogx+x+c

(iii) The differential equation Gb-tained' by elimina_ting '

arbitrary constants from bx+ay= czb is & y =0.
dx?

Page 3

-




et

(C) Fillin the following | blanks (1 mark each) :

-{-i) The average revenue Ry 18 50 an" 'Iﬂ-st-ic-itf of

demand 7 is 5, the marginal revenue Rppis _

(i Jex[%“}i}dw e N

X

i) 1f /() =% +5 and f(0)=-1 then #

Q2 (& Attempi any TWO of the following questions (3 ma

ea{}h)‘, L ; :

| () Write the converse, inverse and cehtﬁiiiééit’ivéﬁf%he :

e statement "If a triangle is eqmlateral then it is
equiangular’. :

L E ihro 1l 2ol

G Findx, .z if 15/1 0132}
o : s B

. : each}
- (@ Solve the foﬂowmg equations by the meth@d nf
inversion : e

2xr y+z=r1

x+2y+32=8
Bxt+y—dz= 1
(11) Find MPC, MPS APC and APS, if the expéndlture

E ofa pers@n with income I is gWen as:

Ec:(0.0{J{}B-)I‘+(0.0?5)I hﬁnf 1000

Jolala | 6 . Page 4




2
i) Evaluate f dx
Wi} Bwvaluate: }" 5 T
: }x2+6°x+-o

Q.3 (A) Attempt any TWO of the following quéstiﬁn'slfﬁ marks -
each) : L e & (63[143 -

@ Find —g« if y=(x)" +(a)"
(i) Find the area of the region bounded by the parabola

y* =25x and the line x=5.

(1) Find the differential equation by eliminating
arbitrary constants from the relation
y:Aegx"i“Bé_Blv

(B) Attempt any ONE of the following questions (4 marks
each): i ' (4)

i t}éi-ng the truth table, verify
pvlgar)=(pva)alpvr)

- oy Hax= ; 4152 : y=3(%—-5~2—} then show that =
S +i +i :

- ax Ay
(C) Attempt any ONE of the following questions (Activity) _
(4 marks each): 25 ' (4}-
() Divide the number 84 into two parts such that the
product of one part and square of the other is

maximum.

~ [o]3]1]s Page 5
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—lml--r'io x—logy=c
R R e

logx—lugy:_D+c

18 the required solution.

SECTION - II

{A) Select and write the correct answer of the follewmg mu]tlple

: choice type of questions (1 mark each) :

=
1 ke party will pay the sale price of goads is ca]led =

(i1)

An agenz who gives guarantee to h]S pnncxpai that

(a) Auctioneer
(b) Delcredere agent

(c).. Factor

@) Broker

In an ordinary annuity, payments or receipts

gceur at

{a) Beginning of each period
() End of each period

() Mid of each period
"(d} Quarterly bas;q

(iii)

Moving averages are useful in.-idenﬁ_ﬁring
(a) Seasonal component

(b) Irregular component

(©) Trend component

(d) Cyclical component

Page 7
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(B) Attempt any TWO of the fmllnwmg questmns 4 marks
each): ' "-'.:':;_.-(;8‘)

(i)  Obtain the trend value for the followmg data usmg

4-yearly centered moving av&rages

Years [1976]1977[ 1078|1979 ._1'9&&-‘1 1981]1982 1983|1984 [1985]
Index | 0} 2 |8 Falo bails e

(i) Find the sequence that mmxmlzes fhe total elapsed

time to complete the followmg Jnhs-m 'tixg order AR,

Find the total elapsed time and nti_ i
B i

fﬁl‘m—ﬁ chine

Jobs I jojmlvlvviv
MachineA |7 [16(19]10]14]15] 5
Machine B f12 |14[14 |10 )18} 5 |

. (1) Five cards are drawn suocess-i-ﬁei'y 'ﬁ*itﬁi'z‘épid?éiiﬁ-ent_-" :
from a well shuffled deck of SZ ca:mis Fmd the =
probability that : =

() all the five cards are spzadéis;”

- {(b) only3cardsare S'ﬁades“.

Q8 @ At’tempt any TWO of the follnwmg qmstmns (3 mark*s-.l_f..:‘:l: -

each) :

G) A house va]ued at ¥ 8,00,0001s 1nsure{i at 75% of nts-_ -

value. If the rate of premmm 18 E} 80% find the o

premium paid by the owne;i_oi.the-_houg&. If ’age__nt 5. f

10]/3]1]6 Page 10




commission is 9% of the premmm fmd agent’ s

oommzsbmn :

{11) Solve the following L.P.P. b.jr_ graphical method.
Maximize: z=4x+6y - |
Subjectto: 3x+2y=<12

x+yz4
x,y20

(i) Defects on plywood sheet occur at random with the
average of one defect per 50 sq. ft. Fm{i the pmbai}llity

E that such a sheet has;

~ 5 : (a) nodefect

(b) at least one defect
(use e =0.3678)

(B) Attempt any ONE of the following questions (4 marks

. each): e 4
{i) The eguations of two regression lines are
: 10x-4y=80 and 10y-9x=-40. Find
- @ xandy '
L el i) bi‘x and bXY

s T
(d) Ifvax(Y)= 36, obtain var (X).

(1)) Find xif the cost of living index is 150 :

Group |Food |Clothing| Fuel and |House |Miscellaneous|
| - electricity|Remt | |
I 180 | 120 300 '} g0 ] el
W 4 = B 5 6 i i : 3 R e
- {o]3]1]s Page 11




((’3} Attempt any ONE of the foilc:rwmg questmns (Ac_ i
(4 marks each) : ;

D Abill of T 18 000 was (ilscou*t&d fﬁr ? 17,568 at a
bank on 25th October 2017. Ifthié rate of ierest was

12% p.a. what 1s s the legal due da “7 -

Solution :
‘Given SD= 189m)cv~17568'

r=12%p.a.

Now, BD = |

= 18,000~ 17,568

Also BD =

= 18,000xn %12
S A

489100
18 {}Oﬂxlz

=% years =

g Th& per iod for which the dlscount_ is deduet?ed 13 7 3
:_dayﬁ, which is counted from the ﬁate e}f dlSCGIB.;: "ilg“ |
ie. 25*11 OQﬁﬁer 2OTT

October

Hence lega:-fdu& date is |

6 ' Pagedsi.
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Step I

Yook HI v Y
g 61 2 4
"-43--;;_2.;.-@--3._
Bl e
- D--8--1--0-
8 L5 4 °

S 0O B

Here mini'nium- number of lsne&(é)ﬂ: _or&*eii"-ztif matrlx
® e .
Step: IV

The smallest uncevered element i 18 1 whtch is
subtracted &‘am all uncovered elements and ad
all elements which lie at the mtersectmn of two

lines: : .:.

- Eﬁ“v”'
L0 5.0 37
L e ks i
ka3 308 ] 2
dh g cgng T 0
bog g .11
Step- V

Draw minimum number of lmes that are req\,ured to.

- cover all zeros :

I mmIvy
g5 6 1 38
% dedog - 0--8-
il
55083 8 3 1

Here minimum number of lines = order of matrix.
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(2025 | 11|18 [1100] J-291 (E)

SECRETARIAL PRACTICE (52)

Time : 3 Hrs. (7 Pages) Max. Marks : 80

SESERET

L j ' W,

Notes : (1) All questions are compulsory.

(2) Figures to the right indicate full marks for the questions.
(3) Figures to the left indicate question numbers.

(2} Answer to every guestion must be started on a new page.

Q. 1. (A) Select the correct answer from the options given below [20]
and rewrite the sentences : (5)
(1) The holder of bond is of the company.

(a) secretary
4b) owner
() creditor
(2) Company hastoappoint _____ to protect the interest -
of depositors.
(a) Debenture trustees

4b) Deposit trustees

(c) Credit Rating Agency

0 2 9 1 Page T P.T.O.
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(B)

(3)

(4)

(5)

The rate of interest payable on debenture is

(a) fixed

(b) floating

(¢) uncertain

Demat sharesare
(a) non-transferable

(b) fungible

(c) bearer

L
Central government is a borrower in the money

market through the issue of
(a) commercial papers
(b) trade bills

(¢) treasury bills

Correct the underlined words and rewrite the following

sentences : : (5)

(1)

(@)

(3)

Depository Receipt traded in USA is called as Global

Depository Receipt.
FPO refers to offering of shares to the public for the
first time.

Bonus shares are issued as a free gift to the Preference

Shareholders.

Page 2



(C)

Dividend is an obligation to be paid by a company

A stock market is an important constituent of money

every year.
(5)
market.
Match the pairs :
Group ‘A
(a) Financial Market
(b) EquitIyIShare Capital
((:} Charge on Assets
(d) Depository Act
(e) Capital Structure

(4)

Group ‘B’

(1) Secured debentures
@ 1996
(3) . Mix up of various

sources of funds
Trading of financial
securities

Risk capital
Unsecured debentures
Trading of commodities
Safe capital

Product mix

(10) 1956

Page 3
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(D) State whether the following statements are True or False : ()
(1) Dividend once declared cannot be revoked.

(2)  Authorized capital is mentioned in capital clause of

Memorandum of Association.
(3) Fixed capital is also referred as circulating capital.

(4) Depositors are given voting rights.

(5) Bombay Stock Exchange (BSE) is the oldest stock

exchange in India.

LY

Q. 2.  Explain the following terms / concepts (Any FOUR) : [8]
(1) Fixed capital
(2)  Overdraft
(3) Debenture certificate
(4) Secured Deposit

(5) Rematerialization

(6) Bull

Q. 3. Study the following cases / situations and express your [6]
opinion (Any TWO) :
(1) STAR Company Ltd. has recently come out with its public
offer through FPO.

Their issue was oversubseribed. The Board of Directors now

0|2(9]|1 Page 4




(2)

(3)

wants to start the allotment process. Please advise the

Board on: - |

(a) Should the company set up allotment committee?

(b) How should the company inform the applicants to
whom the company is alloting shares?

(¢) Within what period should the company issue share
certificate?

Mr. Z holds 50 shares of Peculiar Company Ltd. in physical

mode and wishes to convert the same into electronic mode.

1a) Mr. Z holds a Saving Bank Account with CFDH Bank

‘Ltd. Can he deposit his shares into this account for
demat?
(b) What type of accour:t is needed for the same?
(@ " Isit the RBI which will be the custodian of shares of
Mzr. Z after demating?
XYZ Company Ltd. decides to declare dividend for the
financial year 2021-22 in which it has earned profits less
than their expectations. .
(a) Is Board right in recommending a dividend of I 5/-
per share out of free reserves?
(b) Can Board declare the dividend though.it is not

approved by Annual General Meeting?

(6) Can the Board give dividend in the form of gifts?

Page 5 P_.T.O.
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.  Distinguish between the following (Any THREE) : [12]

Q.4
(1) Shares and Debentures ]
(2) Transfer of shares and Transmission of shares
(3) Final Dividend and Interim Dividend-
(4) Primary Market and Secondary Market
Q.5. Answer in brief (Any TWO) : - : T
(1) State the provisions relating to Bonus Shares.
(2) Explain _thé features of Interest.
(3) Explaip any four features .of Stock Exchange.
Q. 6. Justify the following statements (Any TWO) : (8]
(1) The firm has multiple choices of sources of financing.
(2) A company can issue only certain types of debentures.
(3) Company .Iias to fulfill certain provisions relati:ng {:o 1ssue
of circular or advertisement.
(4) ISIN is a necessary component of Demat.
Q. 7. Attempt the following (Any TWOQO) : [10]
() Write a letter to depositor regarding renewal of his deposit. “
(2)  Write a letter to the debenture hoalder informing him/her
about conversion of debentures into equity shares.
(3) Write”a letter to the member for the payment of dividend
through dividend warrant.
0 9 Page 6
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Q. 8. Answer the following questions (Any ONE) :
{1 - Whét are Preference Shares? Explain the different types
of Preference Shares. ' .
(2) Explain the procedure for allotment of shares.
L X 2 4
0 9 1] Page 7
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